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The Code No. and Set on the right side of the question paper should be
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Don't leave blank page/pages in your answer-book.
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FAT T Fel

Except answer-book, no extra sheet will be given. Write to the point and do

not strike the written answer.
o gHiaTell ST T To TG UT a9 [aE)
Candidates must write their Roll Number on the question paper.

o Py g F FV a7 @ @@ 77 ghlaw av & & geroy gof 7 w8 & o @
JUIRT 5 T 7 Fig o0 arar @ 78 Rar ardm

Before answering the question, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be

entertained after examination.

TP 33T :

General Instructions :
(i) & go7 ey 8

All questions are compulsory.
(ii) aeglvee ge7t % Gl fawey
Write the correct option in objective type questions.
(iii) 1 FTT a7 qeT B GHARE fAFT F ATET 2
Internal choice has been provided in long answer type questions.

(iv) TEF F97 F IF ITP THT T9Na T3 B

Marks of each question are indicated against it.
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qrs - A
SECTION-A [ Marks : 20
(¥ @)
(Physics)
1. Fre-ghe a9 § e 7o & ¢ 1
(8) fepe A ay
(B) T FEGL
(C) (A) T (B) T
(D) & 4 FE T

In Myopia, a person can not see :
(A) Nearby objects

(B) Distant objects

(C) Both (A) & (B)

(D) None of these

2. W yEEE wn fdf gEia B ges SR B g @ o

(A) STHeRH (B) G@Ed
(C) (A)Tem (B) & (D) &9 | g T

The main reason behind the advanced sunrise and delayed sunset is

the J....H of light.
(A) Refraction (B) Reflection
(C) Both (A) & (B) (D) None of these
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3. fa=fafga & 9 @9-ar 95 RyeEioe & 9= & o guae § amEr s 2 7

(A)  emieY

(B) dleeHiet

(C) (A) e (B) i

(D) & & HE T

Which of the following can be used to measure the potential difference
?

(A) Amimeter

(B) Voltmeter

(C) Both (A) & (B)

(D) None of these

4, TWEE B AA U TAENS Soil GRard B et 8 o
(A) FHEF Fer F
(B) BT SHoll |
(C) (A) Tm (B) 3 A
(D) T | FiE TR

During the burning of a candle, the chemical energy converts into :
(A) Heat energy

(B) Light energy

(C) Both (A) & (B)

(D) None of these
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5. Sl & Es S § @4 7 8 § 7 2

What are the properties of a good source of energy ?

6. 20, 3Q TN 6Q F URRIEH B Fu R wAtw B TR & d@w w7 o
yferdtg 1Q & ? 2

How can three resistors of resistances 2Q, 3Q and 6 be connected to

give a total resistance of 1Q ?

7. Y GEET B @ H O AN SR & RS fawm F df sraed g &
2

F AR (Reduce), I =BT (Recycle) AR g ERpIL (Reuse)l “EE: THI” Bl
quiv famm & #X

You must have come across the three 'R's to save the environment :

Reduce, Recycle and Reuse. Explain Recycle in detail.

8. (a) Fi§ I U o9 B YA HHA (F) TN THRE 37 (0) 3 74 Rewa B 3w
aeg @i Refd, GBS G0 SPiA B @ SR 2

An object is situated at a position in between the main focus (F)
and optic centre (O) of a convex lens. Draw the ray diagram
showing the position, size and nature of the image formed.

(b) | @t e F@r Ak & 7 el d9 B 0P EEeY (1D) AT B i
HIfeTT) 2
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What is the power of a Lens ? Define one Dioptre (1D) power of a
lens.

9. U faEm Al & fhwia, @Xaw1 aur SRR F fRga avF Sl 6

Explain in detail, the principle, construction and working of an electric

motor.
e
OR
(a) Foem oRwel e @iftEt & arrd: 9w BN aw A e SuEt B A
fafae qen o9 FEEY TaEET 4

What are the two safety measures commonly used in electric

circuits and appliances ? Explain their working.

(b) Tdll B8 Hu% & AU AR GIHA &3 T@RHAI Bl AR HifoTC
2

Draw the magnetic field lines around a bar magnet.
g -9
SECTION - B [Marks : 19
(e fem)

(Chemistry)

10. f=1 # § Fomd ofaferar Hie-t B ? 1
(A) BegTH HEHT H FEAT ERT GG
(B) Fieax Fgs & T4 & SHd | [EeE
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(C) =l &ed @ Hue | fages
(D) TS AMBLS H FAT ERT HUEEH

Which of the following is exothermic reaction ?
(A) Decomposition of calcium carbonate by heat

(B) Decomposition of silver chloride by sunlight
(C) Decomposition of vegetable matter into compost

(D) Decomposition of lead nitrate by heat

11. 39 Terdf %0 99 SaEe S FaT d Sffhar wee fGie 9ot e 5
(A) REH (CaS0,.2H,0)
(B) T B3 T [Ca(OH),]
(C) & g W (CaO)
(D) T 9&X (CaCO3)
Name the substance which on treatment with chlorine yields bleaching
powder :
(A) Gypsum (CaS04.2H,0)
(B) Slaked lime [Ca(OH),]
(C) Quick lime (CaO)

(D) Lime stone (CaCO;)

12, 9 4 @ 50 o & @ @ A1 2 qun qa@emn Hi9 7 A9 gaee 8 ¢ 1
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(A) SRF (B) (B) & (C)

(C) wEgeH (N) (D) SifiT (O)

Which of the following element has a total of two shells, with three

electrons in its valence shell ?
(A) Boron (B) (B) Carbon (C)

(C) Nitrogen (N) (D) Oxygen (O)
13. foer oridfran & foe dgioe wamfs g e @ 2

TegHitad + HI FAES — TegHIMan FEs + BT
Write the balanced chemical equation for the following reaction :

Aluminium + Copper Chloride — Aluminium Chloride + Copper

14. do@ U @ $ T F q8 0F @Ee T @bl A8 @ aeg 7 2

Why should curd and sour substances not be kept in Brass and Copper

vessels ?

15. TN 7 B & ? U IaE{T s 2

What are Isotopes ? Give one example.

16. (a) s T 9oi9 & = T Fiferg) 2
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Differentiate between Calcination and Roasting.

(b) aq ogelt ® A9 SR S Y o A sEgled &l favenfyd XA qur &
aRE S AT TR B 2

Name two metals which will displace hydrogen from dilute acids
and tweo metals which will not.

17. (a) 99 o] 9 o 60 Fed § 7 SamIT diea ausiedl 3

Define the terms Hetero-atom and a suffix. Explain with examples.

(b) CH3Cl % sae FEfT &1 IWa &Y qeadrs e & JHil T9emsel 2

Explain the nature of covalent bond using the formation of bond in
CH;CI.

(c) TrEFRRE B avEeT & Bt 1

Draw structure of Cyclohexane.

HEAT

OR

() TSI TEEEd § AT T GHed § 7 UH SaredT g 2
What do you mean by structural isomers ? Give one example.

(i) IR @ UF Sig o # q HE-A1 @A 8 AR /i

2
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Which is good for health — a vegetable oil or Animal fat and why ?

(i) feevsie #oR oia & o gt B &1 feweft S

Detergents are effective in Hard Water also. Comment.

s - §
SECTION - C [ Marks : 21
(i formmr)

(Life Science)

18. fa=fafea & § @-0 #fy gfs 6 onfad st B 71

(A) ST (B) stfedews
(C) dw (D) g

Which of the following gland secretes growth hormone ?

(A) Pancreas (B) Adrenal
(C) Pituitary (D) Parathyroid

10, Frfifan 3 & Read agas A ® ? |
(A) ofiEr A (B) S H

3505/(Set : D)



(11) 3505/(Set : D)
(C) (A) 3R (B) &=t & (D) wiwHAITEas &

In which of the following multiple fission occur ?
(A) Amoeba (B) Leishmania

(C) Both (A) & (B) (D) Plasmodium

20. fr=ifafEa & 9 $F-T 2WW uedl i gfe F vera a2 7
(A) fferas (B) Rreafer
(C) drECiHEHT (D) & @it

Which of the following hormone promote the growth in plants ?

(A) Auxin (B) Gibberellins
(C) Cytokinin (D) All of these
21. V] F I8 B oA FE B 7 1

What is the function of sperm tail ?

22, EARANET H IJTHG ..o # =am 1

Origin of Homosapiens occurred in ............ i

23. MY G & AEE & e aAl B o 2
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Write down various tools which are used to study human evolution.

24, ‘“qiitcs # @ B g4E O 2 e # ar 27, avie S 2

"Flow of energy is unidirectional in ecosystem", explain.

25, & e vl $ g9 ofadeE ¥ F B ® 7 2

What happens at synapse between two neurons ?

26. fafmTar & Jaw @1 i Fifom) 4

Describe the importance of variation.
27. IO 1B 0 A O B GEEEr § gEe] i W H AU g 6

What is Excretion ? Describe the structure of nephron with the help of

well labelled diagram.

HYAl

OR

g AT Ao e uew a9 8 7 6

How do living things get their food ?
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